
   TOO 
•comes before adjectives and 

adverbs.

•This coffee is too hot to drink. 
(adj.) 

•He worked too hard to pass the 
exam.(adverb) 



JOIN THE IDEAS USING     

TOO / ENOUGH
+ to infinitive



“I am too old. 
I can’t run.”

WRITE☺



I am TOO OLD to 
run.



“This soup is hot   
 I can’t eat it.”



This soup is TOO HOT to 
eat.



“This wall is too 
high.
I can’t climb.”



This wall is 
TOO HIGH to 

climb.



“This box is too 
heavy. 
I can’t carry it.”



This box is TOO 
HEAVY to carry.



“I am busy. 
I can’t talk to 
you.”



I am TOO 
BUSY to talk 

to you!



“This problem is 
too difficult.
I can’t solve it.”



This problem is 
TOO DIFFICULT 

to solve.



“They are too 
young. 
They can’t get 
married.”



They are TOO 
YOUNG to get 

married.



  “The turtle is too 
slow.
It can’t win the 
race.”



The turtle is 
TOO SLOW to 

win .



“The skirt was 
small .
I couldn’t wear 
it.”



The skirt was TOO 
SMALL to wear.



  “The weather 
was too cold.
I couldn’t go out.”



The weather 
was  TOO 

COLD to go 
out.



  “The ring was 
too expensive.
I couldn’t buy it.”



This ring is TOO 
EXPENSIVE to 
buy.

This ring was TOO 
EXPENSIVE to buy.



ENOUGH 
•goes after adjectives and 

adverbs.

•Is your coffee hot enough to 
drink? (adj.) 

•He didn't work hard enough to 
pass the exam.(adverb) 



JOIN THE IDEAS USING     

TOO / ENOUGH
+ to infinitive



“We aren’t rich 
enough.
We can’t go on a 
holiday.”



We aren’t RICH 
ENOUGH to go on 

a holiday.



“This soup is not 
warm enough.
 I can’t eat it.”



This soup isn’t WARM 
ENOUGH to eat.



“They are not 
old enough. 
They can’t get 
married.”



They aren’t OLD 
ENOUGH to get 
married.



“I am not fit 
enough. 
I can’t run.”



I am not FIT 
ENOUGH to 

run.



“The skirt 
wasn’t large 
enough .
I couldn’t wear it.”



The skirt wasn’t 
LARGE ENOUGH 

to wear.



  “The ring wasn’t 
cheap enough.
I couldn’t buy it.”



This ring is TOO 
EXPENSIVE to 
buy.

This ring wasn’t  
CHEAP ENOUGH to 
buy.



  “The turtle 
wasn’t fast 
enough.
It couldn’t win the 
race.”



The turtle  
wasn’t FAST 
ENOUGH to 

win .



COMPLETE THE SENTENCES:

•It’s 40 C. It’s ________________to 
sunbathe. (hot) 

•Eren told Miray the music was 
________________so she turned it 
down. (loud)

•Deniz needs to go to bed early. 
He is ________________. (tired) 



COMPLETE THE SENTENCES:

•Mrs. Kohen is  ________________ to 
drive a car.(old)

•Arda isn’t ________________to run 
a marathon. 

•Ecem isn’t ________________ to 
come to school.(healthy) 



I didn’t STUDY 
HARD ENOUGH 
to  pass the exam.


